T BIA O# 53 (H20.06)

X 4 T4 5 £ i HHE
FHREMX BT 53 53 106 50
FREMX L ET 23 24 47 18
FHREMX {HET 19 21 40 18
FHE#KX ABET—TH 16 17 33 15
FHREMX ABTZTH 20 21 41 13
FHE#KX ABT=-mTH 20 27 47 23
FHREMX EEL) 33 34 67 30
FHE#KX 45 HT 46 48 94 43
FHREMX JTHT 48 70 118 49
FHE#KX SLHT 38 43 81 39
FHREMX ZHHHET 20 21 41 17
FHE#KX SEEMT 26 26 52 24
FHREMX T FHHET 42 53 95 41
FREMKX AT 53 56 109 52
FHREMX JEET 64 59 123 61
FREMKX 2R 30 42 72 33
FHREMX FRAEET 21 30 51 28
FHE#KX fin E BT 67 89 156 69
FHREMX LN 385 424 809 345
FHE#KX TS 112 136 248 112
FHREMX & A 84 124 208 91
FHE#KX fga H 786 881 1,667 637
FHREMX L 101 119 220 74
FHE#KX F=va 59 65 124 46
FHE#X RIBBTRER 325 337 662 233
FRHE#HX FFRHET 388 495 883 318
FHREMX &t T 61 71 132 58
FHE#EX /10 479 496 975 299

FHEHMXE 3,419 3,882 7,301 2,836

HE#X AREBT KA 288 321 609 219
HEHX AEER 99 110 209 70
HERX hi&@ 138 137 275 93
HEHX RE 104 137 241 81
HERX i 84 121 205 88
HEHX i1l 15 17 32 10
HEHXE 728 843 1,571 561

RiFh X R HET 475 571 1,046 426
KT #h X 03+ BT 192 232 424 161
RIEh X B¥ 365 364 729 279
KiFHh X KLU 65 91 156 49
KiFHh X EE 69 77 146 50
KT X rtHE 151 162 313 99
KiFHh X TaE 168 160 328 92
REEHh X T = HT 138 151 289 116
KEFih X F]ALF 178 187 365 151
KT b X HEBF 303 378 681 309
KiFHh X AT 384 446 830 393
KT #h X AR 5 43 48 48
KiFHh X AHEYNE 89 110 199 60
KiFHh X HIUVHE 502 552 1,054 371
RIEEHh X el 468 505 973 284
K iEh X G550 0FY 3 14 17 17
KiFh X 5t 3,555 4,043 7,598 2,905
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T BIA O# 53 (H20.06)

X £ THX# 5 ES B HHE
SLEHX FRET1X 88 133 221 112
SITEHX FRET2X 391 438 829 370
SLEHX FXRET3X 218 217 435 182
IL{EHX M{EE—TH 240 334 574 252
SEH X MIEEZTH 262 297 559 216
SLTEMX MTEBE=TH 517 510 1,027 374
STEHX IMEEMTAH 128 181 309 135
SL{EHX =HT 343 376 719 281
SLEHX )2} 257 285 542 229
SLTEHX [l 655 689 1,344 492
SLEHX FTRET R HHE 146 133 279 130

SER X ET 3,245 3,593 6,838 2,773

RIIPHET P=E~ 83 92 175 53
KINAET ING R 67 79 146 51
KIJIAHET k3l 235 250 485 182
KIINAET et 47 53 100 46
KIIPHET RIA LWL 106 119 225 Al
KIINAHET Npapil 76 84 160 56
RIIPHET = H 110 124 234 80
KINAET =5 135 142 277 91
KIIPHET TE 234 254 488 179
KINAET BISIE! 29 59 88 88
RINAHETE 1,122 1,256 2,378 897

21|87 f=H 54 50 104 32
=N A 32 39 71 18
21|87 Fi5 31 30 61 15
2JIET RKEN 116 140 256 83
=L BBy 53 66 119 42
28y 1EE 178 183 361 129
21|87 INE)I 165 162 327 116
=N s 145 146 291 105
28T 2i8 43 43 86 40
=N IR 69 88 157 50
=ML AEK 27 31 58 24
21|87 g 23 21 44 11
21|87 hvA= 41 33 74 18
28y £H 41 56 97 24
21|87 1B 35 35 70 20
28T IR 124 140 264 66
=91 RE 53 62 115 27
=N BEFH 84 110 194 54
21|87 £+ #h 338 193 531 283
L) HER 3 22 25 25
2| BTET 1,655 1,650 3,305 1,182
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T BIA O# 53 (H20.06)

X 4 T4 5 £ B HHE

K % 2 ET Kiz 115 123 238 65
K % 2 HET Bi¥h 10 11 21 11
K% EET [GEis 110 112 222 65
K % 2 ET HEE 62 71 133 41
R % EET H 46 44 90 23
K %R AR 67 71 138 33
R % EET EEBIE 43 45 88 21
K% R i 73 63 136 39
K% EET puipE 58 66 124 38
K% R i 112 118 230 60
K % 2 ET 1B E 88 67 155 39
K% R Bsia 55 66 121 36
R % EET Pus 105 88 193 47
i % iEHET A 378 418 796 257
K% RRTET 1,322 1,363 2,685 775

IR Z HT =gl 54 55 109 27
K S H] Lt 141 144 285 74
IR Z HT KK 125 139 264 73
FIRZHET INETR 59 60 119 29
PR Z HT 8T 82 96 178 53
K ST 8L 164 174 338 94
PR Z HT [REE 187 182 369 92
K ST HFH 234 241 475 148
FRZHET = A 63 76 139 37
K ST Bith 1 1 2 1
K S HT pN::i 56 60 116 30
K ST K& 82 82 164 49
K S HT = 70 65 135 27
E2R:EL A0 52 53 105 24
K S HT ERi 68 81 149 35
R ST ET 1,438 1,509 2,947 793

KIJIET & 178 220 398 147
KIIET AT 64 75 139 57
KIINET FRII 105 110 215 66
KIJIET HF0O 120 129 249 55
KIJIET &% 99 125 224 67
KIIET JIlEE 110 122 232 69
KIIET HOAE 1 1 2 1
KINET Eqng 165 184 349 105
KIINET gl 231 259 490 180
KIJIET e 106 126 232 67
KIINET HHEA 55 53 108 34
KIIET JIER 105 102 207 7
KRINETE 1,339 1,506 2,845 919
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T BIA O# 53 (H20.06)

X 4 T4 5 £ i HHE
N %) 129 148 277 92
¥ASHET LR 63 62 125 38
¥AEET T4 234 290 524 178
¥AHET T 89 93 182 64
FASHET %= 46 49 95 31
¥AHET EiR 72 83 155 51
¥AEET a5 96 90 186 57
¥AHET IR 130 130 260 73
¥AEET ABR 42 37 79 27
¥AHET By 101 123 224 79
N 5 107 116 223 74
FAHET ebt] 107 98 205 71
¥AEET o)l 57 61 118 40

FAHETET 1,273 1,380 2,653 875

ZEHr BI\AE 690 777 1,467 593
ZEBH B\ &E 251 254 505 200
ZEHr ES 824 913 1,737 673
— BT KXE 500 520 1,020 364
ZEHr = 112 107 219 102
—EHy AN EIS 114 137 251 96
ZEHr AT 187 239 426 159
Z B EHF 95 113 208 77
—Br i H 70 100 170 65
ZEBH Lo 60 64 124 41
ZEH M 77 80 157 51
—EBH s 45 42 87 34
—BErEt 3,025 3,346 6,371 2,455

B ET B 564 606 1,170 446
BILACHT f2#0 72 63 135 52
BILACHET EE 964 973 1,937 746
BILACHT HE 67 80 147 48
BILACHET X Al 74 145 59
BILACHT Fin B9 193 218 411 127
B ET AN 159 192 351 128
BILACHT HRAR 102 100 202 74
BILACHET RKAR 226 220 446 164
BILACHT iLES 184 208 392 169
BILACHET ER 67 91 158 70
BILACHET T4 13 15 28 10
BILACHET E)A 121 112 233 84
BILACHET TonE 10 12 22 9
BILACHET JIREF 105 110 215 66
BILET A 7 7 14 7
HILAHATET 2,925 3,081 6,006 2,259

4/5



T BIA O# 53 (H20.06)

X 4 THX# 5 £ B HHE
LA ET AR 261 306 567 243
AT WA 489 518 1,007 400
I ACHT =BIN 62 69 131 47
(AT b 91 99 190 68
Lt AT I3 67 64 131 55
AT Bea 144 169 313 145
X ET AR—X 261 270 531 194
A ET ARZK 383 443 826 338
L ACHT AR=ZX 144 171 315 122
AT S 181 200 381 175
I ACHT NI 117 149 266 127
AT V= 132 131 263 105
K ET B[ 148 158 306 148
AT [ika) 135 145 280 90
X ET BARAR 51 48 99 37
AT gl 51 49 100 28
LA ET %) 7 66 137 48

I ET 5 2,788 3,055 5,843 2,370
& 27,834 30,507 58,341 21,600

5/5



